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I 2> mwn: general rules of lineage
a  if pvYPp are valid and there’s no violation (e.g. YRX7w" 1Y j03 marrying n°oRIw»N A% ,mind) — follows male
b If: pwyrp are valid but there’s no violation (e.g. 2135 NNYR, 103% MW, HRIY? N1Y NN, YRIWY Nann) - follows “blemish”
i Challenge: 73 that marries a n9mn — no violation, yet child is 9mn
1 Answerl: follows nm> "1 who forbids 13 from marrying natn (Example included via “mipn 93”)
2 Answer2: follows 0v "7, who allows 73 to marry nimn — (excluded via "1 yR”)
(a) Challenge: list of examples isn’t exclusive — Y9n marrying Y87’ na is legit and follows male (%5n)
(i) Answer: follows 'Rno1T "1 who regards such a child as 1w3 (not Y9n)
(b) Challenge: list of examples still isn’t exclusive — Y87’ marrying nn is legit and follows male (7w2)
(i) Answer: included via mpn 93 in 1% clause (not taught explicitly as qualifiers would render niwn verbose)
(c) Challenges from a1 1 5® 1770 1772:
(i) report of n"227 — 1w »Mxn that marries NWRY nMxn (legit) — child is a *»%w (Ynpa R1% IMn)
1. Answer: mpn Y3 includes this
(if) according to "7 '7—he’s a 1w (Ynpa ®12Y Mor and follows mother)
1. answer: — 1 7R excludes it (i.e. list of examples is exhaustive)
(iii) according to 127 — among non-Jews, follow male; if they convert, child follows s
1. meaning: a male non-"1y13 bearing a son with a n’»1> may be owned (needn’t be killed) - v. 1
2. conversion: if n¥n marries "y — if a boy, is an Mmny, if a girl, 1w NN
3. answer: 1 WK excludes this case (i.e. list of examples is exhaustive)
3  Assessment: nT1’ "1's position works:
(a) Dpn Y3 in 1% clause includes YR’ marrying n%9n and 7w »3n; W IR excludes a7 and M7 7
(i) and: mpn 93 in 27 clause includes 7 marrying a mmnn (follows maa)
(if) However: according to »ov "7, what is being included via mypn Y3 in 27 clause
(b) Rejection: for both, parallel construction must be assumed
¢ If: these pwypp are invalid, but she is someone who could have pwvimp with another (e.g. n1”p) —qtn
i Source: v.2 —she may only go to “another”
1 Suggestion: perhaps the text is excluding his son
(a) Rejection: v. 3 rejects that explicitly
2 Suggestion: perhaps v. 3 is 09NN and v. 2 7272 — both prohibiting son only
(a) Rejection: n9nn3Y is inferred from NWR MNR - just as NYR MINR is a N2 2N and PYI1PP are invalid>77an 727N
3 Suggestion: perhaps both verses relate to nwX mnr — n»nn3% and Tay’12
(a) Confirmation: and nwR mNR becomes the model
(i) Difficulty: n® nwR (which has a mx¥n DIpna In) and R NWR (which can be permitted during 70W’s life)
(ii) Answer: v. 4 groups all m»y together — n13 21N = pwITp are invalid (>9mn)
(b) Challenge: if so, nT1 should be in the same category (but pw11’p are van and a "M j2isn’t a TIN)
(i) Answer: v.5—"tho we could derive all n1»Y from N7 (X9p) rather than nYR MNR (RIMN) — RINMNY PVYPN
ii ~ Alternate source: "2’ — only a W and pwiTp are invalid —1"p to Ny
1 Challenge: pv1y1p should be invalid for all 5 »27n
(a) Defemse: v. 6 indicates a legal wife whose marriage is k1w (forbidden)
(i) Note: y" explains N1 as referring to the one — or few — prohibited unions whose PWYTp he legitimates
(if) Counter: 1327 don’t find any possible relationship less severe than 8% »27n to apply
1. y”1. since the NN negated RY 7271 pWITP, the verse must be referring to nwy »27n ete.
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